Time :

AE-1240

B.Sc. (Part - II)
Term End Examination, 2016-17

CHEMISTRY
Paper - 1

Inorganic Chemistry

Three Hours] [Maximum Marks : 33

Note

gt U F S| SNl g %+ A 3T

it 3R 2Aferd T |

: Answer all questions. The figures in the right-

hand margin indicate marks.
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(2)

Transition Metals show :
(/) Inert pair effect

(if) Variable oxidation state
(iii) Lower melting point
(iv) Lower boiling point

[ [

(b) TAfafed &l &RO Afed WemEL @ 2x3

(i) IR WA q@ Jfagraehia g
g

(i) ThHUl qcdl o AR FHETar: T
g ¥

(iii) TRl I Rafdd Farsiehdl ERTd
A Tl

Explain with reason :

(/) Most of the transition elements are
paramagnetic.

(if) Compound of the transition elements
are generally coloured.

(iii) Transition elements show variable

valency.
37Yqr/ OR
() Feafafee & @ =@-w  fa=m
(ARfeh) HHTU dd H TR § ? 1
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2.

(3)

Which of the following -electronic
configurations does not belong to
transition element ?

() 3d'04s!
(i) 3d'%4s?
(iii) 3d'%4s2p!
(iv) 3d'04s0
(b) TAfAfEd & TUAREY :

(i) FHHAT T h IUTHE IO

(i) 9H GhHU It o dEl gN Hpd
fmfoT

Explain the following :

(/) Catalytic property of transition
elements

(if) Complexes formed by element of
first transition series

Th13 / Unit-11
(@) 9™\ forg GHmEo ot &1 We= ¥ 2
() TUH
ORESIR
(iii) Jd=
(iv) 38 9§ 3 &l

2x3
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(4)
Lanthanum belongs to which transition
series ?
(i) First
(if) Second
(#ii) Third
(iv) None of these
(b) Treafafea w fewfoer fafe 2x3

Write notes on the following :
(/) Curie-Weiss Law
(if) L-S Coupling

37Y4qr / OR

() ®A-TH ITTEHAST T GHAT qel

¥ S gt S © 2 1

Which co-ordination number is mostly
found in transition element ?

(i) 2 (i) 4
(iii) 8 (iv) 6
(b) TAfAfEd & THARY : 2x3

() Tsd@ Epau g & dd qda
Thol Jof & dl 9 THEAl foEm
T g vuw d@eHu goft & a9
& |
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(3)

(i) Tsd@ Qe qdra SehAu o0 o dl
& AFEA 39 |

Explain the following :

(/) Second transition series elements
resemble with third transition series
elements but not with first transition
series eclement.

(if) lonisation energy of second and third
transition series element.

Th1e / Unit-111

3. (¢) TR & IY-UgHdShal fagma &1 9UH
HINY| HlEce THH W I8 HA @N]
Bl § 2 4

Explain Werner’s theory of co-ordination.
How 1is it applicable on cobalt amine ?

(b) ATRHIHIO-3TI=IT § 3T 1 U © 2
SfFAPRE qAT STTA—SH I TICRIU
YHLAET | 3
What do you understand by oxidation and

reduction ?  Explain  oxidizing and
reducing agent with example.

37g4qr / OR
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(6)
(o) Ffafed m il fafay

() HFpal H FHEIA 3
(i) 9HET UH] GEA 2
(i) =A@ 2

Write notes on the following :
(/) Isomerism in complexes
(if) Effective atomic number

(iii) Frost diagram

$HE / Unit-1V
4. (0) THRMES & IAAH SATFAHOUT ATl
e 1
Highest oxidation state of actinide is:
@ +7 (if) +6
(iii) +4 (iv) +5

(b) IITTH ¥ Np, Pu T Am & GIFRRIU
i foames o & fedl s fafy
1 FUH RIS 3
Describe, any one, solvent extraction

method to separate Np, Pu and Am from
Uranium.

(0) TOES TFEA B B AU AOTES F
O W SHH H YW TSal © 2
HHART | 2
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(7)

What is Lanthanide contraction and what
is its effect on the properties of
Lanthanides ? Explain.

379aT / OR
(o) frefafes w femfat fafew 2x3
() ITEEl F R GHa fmio

(i) TS H gt fRwem fafy
BRI JUFRI

(iii) 3SR 5 Td THEARS dHad
Write notes on the following :

(/i) Complex formation by Lanthanides

(if) Separation of Lanthanides by
Fractional Crystallization method

(iii) Tonic Radii and Actinide Contraction

T&1e / Unit-V

5. (q) WIEleh, TYHIcsw qon IvayH  foacraen
T AY F g © 2 9eel el 2

What do you understand by Protonic,
Aprotic and  Amphoteric  solvents ?
Explain them with example.
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(8)

(b) TEH STEURON 1 7 oEH STl qdl
A T RO TR0 I | 4

What is Lewis concept ? Explain Lewis
acid and base with example.

3747/ OR
(o) TfAfEq & TUAEY 4

() Ta I foomEes & ®9 H

(i) STRIFIE fagr
Explain the following :

(/) Liquid ammonia as a solvent

(if) Arrhenius theory

(a3

(b) ITA-aX & fau faams-a= faga
TS| 2

Explain solvent-system theory of acid-
base.

61 _BSP_(8) 10,300



